e § SplashLearn

y
ﬁ Easter Addition or Subtraction =

Solve the following word problems. \ 4

Peter has 450 Easter eggs. He gives 300 eggs to
his friends. How many Easter eggs does Peter have
left?

Emily has 250 Easter candies. She buys another
500 candies for her Easter party. How many
candies does Emily have in total?

There are 600 Easter bunnies in the store. 350 of
them are sold on the first day. How many Easter
bunnies are left in the store?

Anna baked 700 Easter cookies. She sold 400
cookies. How many cookies does Anna have left?

The Easter Bunny has 800 carrots. He sold 350
carrots. How many carrots does the Easter Bunny
have left?

There are 500 Easter eggs in the shop. 200 of them
are blue and the rest are pink. How many pink
Easter eggs are there in the shop?

Jack has 600 jelly beans. He gives 150 to his sister.
How many jelly beans does Jack have left?

There are 700 Easter eggs in the park. The children
found 300 eggs. How many Easter eggs are still
hidden in the park?
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